
            

            

            

            

            

            

       

 

ml;ruf;fzpj rkd;ghLfis jPu;j;jy;  

ml;ruf; fzpj gpd;dq;fisf; nfhz;l rkd;ghLfisj; jPu;f;Fk; NghJ 
gFjpntz;izg; ngw gFjp naz;fspd; nghJ klq;Ffspd; rpwpaijf; fhz 
Ntz;Lk;. (ngh.k.rp)  

ml;ruf;fzpjg; gpd;dq;fis vspa rkd;ghlhf khw;Wtjd; %yk; jPu;it ngwyhk;  
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1 x (a+3) = 4x5  

a + 3 = 20 

a = 20 – 3  
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ghlk; - fzpjk;     

juk; - 10  
Mrpupau; :- Mrs. K. tp[ayypjh  
Nf.nj`p. nj`pNahtpw;w> jkpo; kfh tpj;jpahyak;  

[Pd; thuk; :- 02 

rgufKt khfhz fy;tpj; jpizf;fsk; - thu ghlrhiy  
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